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There is a mistake in paragraph 6.2.1.



φ min = arctan ((1-mounting height)/10); with the mounting height in m
φ min = arctan ((1-0.25)/10) = arctan (0.075) = 4.3°
φ min= φ max + 11,3 = 4.3 + 11.3 = 15.6°
tan(15.6) = 0.279 → h = 0. 0.279 x 10000 =2790+  250 = 3042 → ≈3m



φ min = arctan ((1-mounting height)/10); with the mounting height in m
φ min = arctan ((1-1)/10) = arctan (0) = 0°
φ min= φ max + 11,3 = 0 + 11.3 = 11.3°
tan(11.3) = 0.1998→ h = 0. 1998 x 10000 =1998+  1000 = 3989 → ≈3m



φ min = arctan ((1-mounting height)/10); with the mounting height in m
φ min = arctan ((1-1.5)/10) = arctan (-0.05) = -2.87°
φ min= φ max + 11,3 = -2.87 + 11.3 = 8.43°
tan(8.43) = 0.1482→ h = 0. 1482 x 10000 =1482+  1500 = 2982 → ≈3m
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